1. oAk f(x) = x* +2x -3 ol st thg & &A1 982 A7

D f(0)=-3 @ f(-1)=6 ® f(1)=0
@ f(2)=5 ©® f(-2)=-3



® y=-3x2

@D y=4x?

@ vy

1
4



He oA g y = ax® o] T Zolth, O~ @ F | al 9 7O

yl\ @




® y>0



o
>
2t
e

(V]

n

1
—§@+1f—4ﬂy

.0
R

Fofoar.



N

)

e (5
® (-1,-1)

4

1
25

3)
3
214)
3,9

1
4,

@ (0.2)
(










& % o) Fol olxt4o] THLE x Fof A A7le] v
A Ao e AL

D y=x2 ©y=-x*-1

©y=(x+1)>2 @ y=x+1

0.6 26066 06,6 ®oe 006



y = -ax’ +¢q 9 DL A2

)

Y

O T
@

Y

O T




11.

f)elMy =x*—2x=-3d ™, f(f(f(-1)) <

&

tlo



® 2






14. thg olAAo] g Ex Hdglo] 7 HAo]

1 - 3
@y=§x2+x—1=>x=—1%_]”ﬂ, 5‘45“\%,%—5

1 - 2

@ y=-3¢-x-2=x=-1d0, SESIES
1 . 2

® y=—3x2—|—2x—1:>x=§°1 ﬂiﬂgﬂ%}f—g

@ y=2x*+12x=>x=3 4 o, HAHZL -3

5 - 5
® y=—x2+5x—5:>x:§ o of, ZﬂEﬂ%}t—Z

2] A

—

A

29



@ a>0% o, yo] 3t 0K} At
® y ol thste] o)t
@ a>0°]H ol 2 =3 Qo

®a<0¥8 W, x>00Hx7t 371wy =

e,



KX —1] 0 —Z 0 O]I;]—
) ( > )
’
( )

4
o

N



17. oS y= -2 +2x4+3Sy=a(x-p)’+q 2 22 ebd o,
p+q9 @22

@ 6 @ 5 ® 4 @ 3 ® 2



ax’> + bx 4+ ¢ & 1= =
o, abc ©] k= otofet.

Al

Aol (-2, 2) °l



2 tax+b 9 17

2
thle = 4 Alol9] Ag 7t 6 o]t

® 5

@ 3



x% +4x—m 9] FS=Fkol 4 A o

oG y

® 2

@ 0

@ -8

® -10



21. o2 12 o)A y = ax? + bx + ¢ 9] 1otk 47t ABC
1= o AFTVE

=
o] Yo7} 12 & wj, 47+ BCD 9] HolE F51H?

yl\

ol =

~C 10 =

@ 106 @ 107 ® 108 @ 109 ® 110



22. Al A (-1, =5), (0, 5), (2, 13) & AtE oA g2 T o
LAM] AR} (p, q) A W, p—q & A7

D1 @ 5 ® -5 @ -1 ® -11



23.

x=29 0 &g -1& 2,y

ozt A&y =a(x—p)?+q

2 Fatole

5 L
=%

Ao

ke1g
=

132 =

=4
a

S IOz st

o, 44 a, p,q & & apq ©]



24, O|AFS y = a2 — 2k + 4k O] RGOl M A W, M o] AP
F5}?

@1 @ -2 @ 3 @ -4 ® 5



25.

=919 4ol7l 48em Q1 AT
S A 9] 712, A2 o] o

D S cm
> L cm

]

=

K

=
=

oA 7L ol 7t A7t IS
SAT Azt



